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ECONOMICS
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two

(2) marks. Attempt all the questions.

1. The revealed preference theory of
consumer’s behaviour is based on

(A)

(B)
(©)

(D)

Consistency

Strong Ordering

Positive income elasticity of
demand

All the above

2.  An individual’s supply curve for
labour will bend backwards when

(A)

(B)

(©€)
(D)

The substitution effect of wage
rate increase is higher than
income effect.

The income effect of wage rate
increase is negative and higher
than the substitution effect.
Leisure is a Giffen good.

The substitution and income
effect of wage rate increase
reinforce each other.

3.  The short run supply curve of a firm
under perfect competition is the
same as the

(A)
(B)

(©€)
(D)

marginal cost curve

marginal cost curve above the
average variable cost curve
average variable cost curve
average total cost curve

4. Match List-I with List-II and select
the correct answer from the codes
given below :

List -1 List - II
(a) Quasi rent 1. Hicks
(b) Elasticity of 2. Chamberlin
substitution
(c) Monopolistic 3. Neumann and
competition Morgenstern
(d) Theory  of 4. Marshall
Games
Codes :
@ () (© (@
(A) 4 1 3 2
B) 2 1 4 3
< 2 1 3 4
(D) 4 1 2 3

Paper-11

S.

Note :

6.

The difference between the value of
marginal product and the marginal
revenue product arises only if

(A)
(B)
(©)

(D)

Average revenue is not equal
to marginal revenue.

Average cost is not equal to
marginal cost.

Total revenue is not equal to
total cost.

Average cost is not equal to
average revenue.

The following 5 (five) questions

consist of two statements : one
labelled as the ‘Assertion’ (A) and
the other as ‘Reason’ (R). You are
to examine these two statements
carefully and select the answers to
these items using the codes given
below :

Assertion (A) : In the short run, a

producer operates in only stage
Il of the law of diminishing
returns where average product
of the wvariable factor is
declining.

Reason (R) : In stage I and stage III

the marginal products of the
fixed and the variable factors
respectively are negative.

Codes :

(A)
(B)

(©)

(D)

(A) is true and (R) is false.

Both (A) and (R) are true and
(R) is the correct explanation
of (A).

Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(A) is false and (R) is true.
D-01-10
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Assertion (A) In monopolistic
competition, a firm earns only
normal profit in the long run.

Reason (R) : A firm in monopolistic

competition produces a
commodity which has no close
substitutes.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) Devaluation in
general is resorted to increase
the exports.

Reason (R)
cheaper.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is not
correct.

(C) Both (A) and (R) are incorrect.

(D) (A) is incorrect, but (R) is
correct.

It makes exports

Assertion (A) : The role of
monetary  policy in a
developing economy in general
is to achieve growth with
stability.

Reason (R) : It makes availability of
credit to public at cheaper rate
of interest.

Codes :

(A) (A) is correct but (R) is not the
explanation of (A).

(B) Both (A) and (R) are incorrect.

(C) (A) is incorrect but (R) is
correct.

(D) Both (A) and (R) are correct.

Paper-11

10.

11.

12.

13.

Assertion (A) : The average and the
spread of indirect taxes have
been lowered in India over the
past two decades.

Reason (R) : Tax-GDP ratio in India
has declined during this
period.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

The classical analysis of
determination  of  output and
employment is characterised as a

(A) Static Analysis

(B) Comparative Static Analysis
(C) Dynamic Analysis

(D) All of the above

‘Consumption is irreversible’ is
implicit in which of the following
hypothesis ?

(A) Absolute Income Hypothesis
(B) Relative Income Hypothesis
(C) Life Cycle Hypothesis

(D) Permanent Income Hypothesis

Inventory-theoretic ~ approach  to
transactions demand for money has
been given by

(A) J.M. Keynes
(B) Milton Friedman
(C) Don Patinkin
(D) W.J. Baumol

D-01-10



e (A) : THTeR) wfaaifier §
& e § g% g o &
AT FA |

T (R) : TRt Hia=ifiar § wH 5RT

(A) (A) 3R (R) 3H ¥ & 3R (R),
(A)  TE ARATE |

(B) (A) 3R (R) 3H 9 ¥, W
(R), (A) =i &l == T&l € |

(C) (A)Fae, W (R) T |
(D) (A) A E, "R (R) TFE |

AFET (A) : T dR R e
F TG F AU sEgeas fw
SA@E |

T (R) : Te faid =t samer & &
g1

s :

(A) (A)IR(R)SHIWEIE |
(B) (A) T e, W= (R) W Tl & |
(C) (A) 3R (R)SHITeAAE |
(D) (A) Tewd &, ] (R) Wl 2 |

At (A) : fasraeliet srdememen o
Hifse Hif s g T gt
I ITRT 3T X U AT E |

@h (R) : I8 AN ol HOT SA&T Gt
TS Y X ITeTe Al € |

e

(A) (A) e &, T (R), (A) &I &t
AT TR & |

(B) (A) IR (R) A Terq & |

(©) (A)Teds, ™ (R) TE |

(D) (A) 3R (R) FI W& |

D-01-10

10.

11.

12.

13.

e (A) : et 31 g9kl & SR
IRA H STRT T T TR 3R
3T 3TTPR HH & TATE |

% (R) : 39 3@ % IR 4R F 9
T2, et T g |

HIS

(A) (A) 3R (R) g & € 3R (R),
(A) = Gl AT & |

B) (A) 3R (R) IA TF & W
(R), (A) = &I A=A TET ¢ |

(€©) (A) e, R (R) FFAE |

(D) (A) 3@ &, R (R) TAE |

IR 3R YSTR [LROT S FATH R
forgetsoT shgeTar &

(A) e favetsmn

(B) doTcHeh Rifdeh foreeisoT
(C) TTeaTeHsh fagersor

(D) Swge wi

“IqAT 3eRANE (Irreversible) gfam
& I = faeiTehd aReheaaTet | 9 e
e & ?

(A) TIRUET 3T IR

(B) oI 3T TRehodT

(C) ST =I5k TR

(D) T 3T YRR

51 35 forw e i ¥ e et e
SRR BT e e T ¥ 7

(A) SL.UA. H
(B) THeeA wiead
(C) M ufefe
(D) TS A

Paper-11



14.

15.

16.

Liquidity trap is a situation when
demand for money is

(A) Zero elastic

(B) Unit elastic

(C) Relatively more elastic
(D) Perfectly elastic

Match List-I with List-II and select
the answer from the codes given
below :

List -1 List - IT
(a) Equation of 1. Milton
exchange Friedman

(b) Money wage 2. John Muth
rigidity
(c) Natural rate of 3. J.M. Keynes

unemployment
(d) Rational 4. TIrving
expectations Fischer
Codes :
(@ () (© (@
(A) 3 4 1 2
B) 4 3 2 1
< 4 3 1 2
(D) 4 1 3 2

Which one of the following
statements in case of Kaldor model
of trade cycle is incorrect ?

(A) Its foundation can be found in
Keynes’ theory of income
determination.

(B) It assumes that both saving and
investment function (or at least
one of the two) are non-linear.

(C) It makes use of investment
multiplier  interaction  to
generate trade cycles.

(D) It is based on capital — Stock
Adjustment principle.

17.

18.

19.

20.

Match the List-I with List-II and
select the answers from the codes
given below :

List-1 List - 1I
(a) Life cycle 1. Franco
hypothesis Modigliani

(b) Liquidity trap 2. J. Duesenberry
(c) Ratchet effect 3. A.C. Pigou

(d) Real balance 4. J.M. Keynes
effect
Codes :
(@ () (© (@
(A) 1 4 3 2
B) 1 2 3 4
<) 4 1 2 3
D) 1 4 2 3
The  concept of  sustainable

development was first given by
(A) Brudtland

(B) Kindleberger

(C) Raul Prebisch

(D) Keynes

In the Harrod-Domar equation of

warranted rate of growth, i.e.,
g= G—//%] , the capital-output ratio is
represented by

(A g (B) 1/k

©) sly (D) yis

Which of the following is not an

indicator of Globalization ?

(A) Opening of the economy for
unrestricted ~ imports  and
exports.

(B) Allowing free capital
movement among nations.

(C) Free movement of technology
among nations.

(D) Achieving exchange rate
stability.
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21.

22,

23.

24,

25.

Which one of the following is an
indicator of poverty ?

(A) Head-count index

(B) Poverty-gap ratio

(C) Poverty-square gap ratio
(D) All of the above

The unbalanced growth strategy was
propounded by

(A) Ragnar Nurkse
(B) H. Leibenstein
(C) A.O. Hirschman
(D) R.Rodan

Opportunity ~ cost  theory  of
international trade is given by

(A) Haberler

(B) Adam Smith

(C) Ricardo

(D) Heckschor-Ohlin

The concept of intra-industry trade is
given by

(A) Balassa

(B) Meade
(C) Jagdish Bhagwati
(D) J1.S.Mill

Which one of the following is
considered as non-debt creating
foreign investment inflow ?

(A) External assistance
(B) Foreign direct investment
(C) Borrowing from LM.F.

(D) Commercial borrowings

26.

27.

28.

29.

30.

Various trade reforms after 1991 in
India were implemented by

(A) Manmohan Singh
(B) C.N. Vakil

(C) P.R. Brahmananda
(D) Jagdish Bhagwati

In 1971, collapse of Brettonwood
system was largely due to

(A) Fall of gold standard

(B) Rise in the value of gold

(C) Failure to manage international
liquidity

(D) Surplus countries did not
revalue and deficit countries

did not devalue their
currencies

Purchasing power parity theory was
given by

(A) Haberler

(B) J1.S.Mill

(C) J.E.Meade

(D) Gustav Cassell

When was minimum reserve system
of note issue adopted in India ?

(A) 1947 (B) 1953
(C) 1956 (D) 1960

Which one of the following is not
the objective of monetary policy in
India ?

(A) To accelerate
development

economic

(B) To achieve price stability
(C) To regulate foreign trade

(D) To stabilise exchange rate



21.

22,

23.

24,

25.

e A1 Gohaer iR § © & @
g7
(A) ¥E FIST GIhih

B) freaT faRTe SIGEIS|

(C) THef=ar =t feRrer S uma

(D) 3w @t

FEqIIq  dglg gEE fHEsh g
AL TS ?

(A) VTR 75T

(B) TH. AR

(C) u.af. g

(D) R, T=A

SR AR & T AN g
i FreAiteRa o | feret wfeonie femam 2
(A) TR

(B) weH ey

(C) Terer

(D) EoRR-3AE (AT

F-SAT AR H TFT  [hE
afcTted ferar ?

(A) T

(B) dHiE

(C) STTRIRT St

(D) S.uq. foet

freifora ® 9 RUIeR foRent fewr sidqare
31T hIg Ueh THEAT ST &

(A) T HerFa

(B) ot uewrer Wergan
(C) IR ST &I ¥ 3UR
(D) foToeh 3UR

26.

27.

28.

29.

30.

1991 & 3IWd 9Rd ¥ faf= =R
R e 11 AT fohd T 2

(A) FAHEA e

(B) HI.UA. it

(C) L3R, TETHg

(D) STTRIST YTerelt

g 1971 | SgIISH FawT & fawhel g
T HIS TR T HROT 4T

(A) TEUTHE H T

(B) %@ o § i

(C) IR e/l & UaeT i
forerar

(D) R fasett a1 aret 39T = ST
A 1 Yo der fasel ge
IS e SN A ST R

3TIeI el fhaT |

T vifed gaar fagra e wfqufea
frar an ?

(A) TR

(B) S.uq. faet

(C) ST e

(D) el shferet

IRA § e 9= &l A i JoTelt
T TR g2 ?

(A) 1947

(B) 1953

(C) 1956

(D) 1960

AR § Hifge et = =il § & i
T T TR 8 ?

(A) 3T foehr Sl 71 ST |

(B) A fReRaT U e |

(C) To=eT =R =i fafTafid e |
(D) fofT ST ot R & |




31.

32.

33.

34.

The continuous deficit in the balance
of payments of India is due to

(A) Continued rise in imports
(B) Slow rise in exports

(C) Exchange rate volatility
(D) All of the above

‘Currency War’ during the present
recession is concerned with

(A) Under valuation of currency
(B) Over valuation of currency
(C) Neutral valuation of currency
(D) None of the above

Disguised unemployment in
underdeveloped countries stands for
marginal productivity of some
persons is

(A) zero

(B) greater than zero

(C) high

(D) unity

Match List-I with List-II and select
the answer using the codes given
below :

List -1 List - I1
(a) Open-general 1. Employment
license
(b) TRYSEM 2. External trade

(c) Wholesale 3.
price index

Credit control

(d) Cash-reserve 4. Inflation
ratio

Codes :
@ b (© (@

(A) 2 1 4 3

B) 2 4 3 1

© 4 3 2 1

(D) 3 2 1 4

35. Match List-I with List-II and select
the answer using the codes given

36.

below :

List -1
(a) J.M. Keynes 1.
(b) David 2.

Ricardo
(c) Adam Smith 3.
(d) Mrs. Joan 4.

Robinson
Codes :

(@ @ (o

(A) 2 3 4
B) 3 4 1
<) 4 1 2
D) 1 2 3

List - 11
Economics of
imperfect
competition
General theory
of employment,
interest and
money

Principles of
political
economy

Wealth of
Nations

(d)

1
2
3
4

Match List-I with List-II and select
the answer using the codes given

below :
List -1
Institution

(a RB.L
(b) N.A.B.AR.D.

(c) Planning
Commission

(d) F.C.IL
Codes :

(@ M (©
(A 1 3
B) 3
<) 4
(D) 2

W = N A

4
2
1

List - IT

Year of
establishment

1. 1935
2. 1982
3. 1950

4. 1964

(d)

2
1
3
4
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(C) F5 Al wf dHT IeaEH
ST |

(D) FS Al wf HHRT KR

THET |

Tt — 11 gt — 11 o 9 faer hifste
AR T fU el § 9 3101 IR I

FHITIT
g -1 T - 11
(a) gRI I 1. ISR
AT (3T S
Tw)
(b) TEEH 2. Sl MR

(c) gF  HHd 3: 07 Fre=oT

BEEIED
(d) 7t RS 4. gE R

s
HiS :
(@ () © (@
A 2 1 4 3
B) 2 4 3 1
< 4 3 2 1
D) 3 2 1 4

3s.

36.

T — 11 gt — 11 & |rer e hifste
AR A U FIe § ¥ U1 W TI9T
i ;

g -1

T - 11
(a) S.UA. BT 1. THHIHFT 3F
TR hifE e

(b) e Rerel 2. SR &R 3
TEATTH, 28 UUS
T
(c) Tenfmy 3. Wiguew 3%
qifcAfeehet gehTd
(d) SOt st. 4. oo 3 A9
RICEEE)

S :

@ () (© @
A 2 3 4 1
B 3 4 1 2
© 4 1 2 3
1 2 3 4

T — 11 gt — 11 % |re fiere hifste
AR A U FIe § ¥ U1 W TI9T
i :

T -1

T - 11

(Te=m) (T T )
(a) ORI RSESH 1. 1935
(b) TS 2. 1982
(c) TS T 3. 1950
(d) UR..3TE. 4. 1964

(F.C.L)

A

(@ (b)) (© (@
A 1 3 4 2
B) 3 4 2 1
© 4 2 1 3
@ 2 1 3 4



37.

38.

39.

40.

Which one of the following is not
correctly matched in the case of
India ?

(A) Revenue Revenue receipts
expenditure : + Revenue deficit

(B) Primary Revenue deficit —

deficit : interest payments
(C) Total Revenue receipts

receipts : + capital receipts
(D) Revenue Tax revenue +

receipts . non-tax revenue

The incidence of sales tax is on the
seller when the demand curve

(A) for the product is a rectangular
hyperbola

(B) for the product is perfectly
elastic

(C) for the product is perfectly
inelastic

(D) for the product is moderately
elastic

A progressive income tax implies
that

(A) the amount of tax falls with a
rise in income

(B) the rate of tax rises with a rise
in income

(C) both (A) and (B)

(D) the rate of tax decreases with a
rise in income

Under which Article of the
Constitution of India is the Finance
Commission is  appointed by
President of India ?
(A) 279

(©) 281

B) 280
(D) 282

41.

42,

43.

44.

Who 1is the Chairman of the
Economic Advisory Council of the
Prime Minister of India ?

(A) Suresh Tendulkar
(B) Jagdish Bhagwati
(C) C. Rangarajan
(D) Vijay Kelkar

Match List-I with List-II and select
the answer from the codes given
below :

List -1 List - I1
(a) Range 1. Square of
standard
deviation
(b) Coefficient 2. Uses limited
of variation information
(c) Variance 3. Relative
measure of
dispersion
(d) Inter-quartile 4. Smaller than
range range
Codes :
@ b © @
(A) 4 3 1 2
B) 3 1 2 4
< 2 3 1 4
D) 1 2 3 4

The distribution for which mean and
variance are equal is

(A) Poisson (B) Binomial

(C) Normal (D) Gamma
For a symmetric distribution
Skewness () is

A 3 B) 0

< 1 (D) 2



37.

38.

39.

40.

AR & G5 H {7=iferd § 9 i |1 Gal

gofera & & 2

(A) IE T ;. TR WIEr 4+
T[oTE T2l

(B) WIfHF AT ;TSRS =R — =AW
T

(C) FAMTE : IoRT  Wiadr  +

(D) ST WISt : Y TS + e
T

fasha oY BT ST feshel W TS €

RIS

(A) 3R H HIT oGF  IATRR
ETEURETEAT & |

(B) SIS ol HT o5k IUIA: AIGR € |

(C) 3G HT G a5k JUI: SRR
T

(D) ST H A a5h AT &7
ARRE |

TRt 371 o T 319 € o

(A) 3T ¥ ghg & T F Dl AET HH
BAAE |

(B) T ¥ gfg & T F H 5T Tgal
T

(C©) (A) e (B) 3T |

(D) T ® gig & T H B T HA
BAT |

IR G & o 3] & 3idma
RT o TAid gN for ST Fge
fopan ST & 2

(A) 3T 279
(C) 3TT=3 281

(B) 3TT=9% 280
(D) 3TT=9% 282

41.

42,

43.

44.

ORA & JUHE I SToes qHeEnl
ST 1 ST D & ?

(A) G AGTH
(B) TR sl
(C) It TREH
(D) TasTg et

et — I 1 gt — 11 o 9re faer hifste
AR T fU et § 9 3101 IR I
I ;

i1

T - 11
(a) fomr 1. A= foaes
T
(b) foeRUTTUR 2. WiHT STHEHRI
H 3T
FATE |
(c) W&o 3. 3ROT
HTYeT 11
(d) Siaaqds 4, @R W
foear o | Bl
HS :
@ () (© (@
(A 4 3 1 2
B) 3 1 2 4
< 2 3 1 4
D) 1 2 3 4
fore ATeT AR IOt AT foeRor SRR § 2
(A) IS (B) TFuwE
(C) 9HA (D) =

A e % fore o () B e

A 3 B) 0
© 1 (D) 2



45. The sum of the squares of deviations
of the given set of observations is
minimum when taken from

(A) Mode (B) Median
(C) Variance (D) Mean

46. Factor reversal test is satisfied by
(A) Laspayer’s Index
(B) Fischer’s Index
(C) Marshall-Edgworth Index
(D) Pasche’s Index

47. Type I error is defined as

(A) Reject null-hypothesis when it
is false.

(B) Reject null-hypothesis when it
is true.

(C) Accept null-hypothesis when it
is true.

(D) Accept null-hypothesis when it
is false.

Note : Read the passage below and answer
question nos. 48 — 50 :

An employer is willing to hire an
extra worker provided he or she will
contribute a value that exceeds the wage
and thus the contribution of the marginal
worker is a good approximation of the
wage. On a given plot of land, if you add
more and more workers, each will
contribute marginally less and thus the
wages rise with productivity and with the
land-to-labour ratio. Areas with high
agricultural productivity and high land-to-

labour ratios (for example Punjab,
Haryana) have higher wages and vice
versa (for example Bihar, Orissa).

Productivity is determined by technology —
the seeds, irrigation, fertilizer, etc. Land-
to-labour ratio is determined by the size of
the agricultural labour force that the land

has to support. Areas with high population
density, and that means areas that have
experienced high rates of population
growth for a long time, will have low land-
to-labour ratios and hence low wages.
Also, if the economy is characterized by
well-developed manufacturing and service
sectors so that there is significant
employment outside agriculture, then
correspondingly there is less labour in
agriculture. Consequently, the land-to-
labour ratios in agriculture and hence
wages are high. This is the key link
between employment pattens and poverty.

48. An employer is willing to hire an
extra worker
(A) if the contribution of this
worker is more than the wage
rate

(B) if the -contribution of this
worker is less than the wage
rate

(C) both (A) and (B)

(D) none of the above

49. Wage rate
depends upon

in agriculture sector

(A) Productivity
(B) Technology
(C) Land-to-labour ratio
(D) All of above

50. Other things remaining the same,
areas with  well developed
manufacturing and service sector
will have higher wage rate in
agricultural sector, because

Paper-11
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(A) of a relatively lower labour to
land ratio
(B) a relatively higher labour
productivity
(C) both (A) and (B)
(D) None of the above
D-01-10



45.

46.

47.

o2t f5d g2 usi & far=emi & o ot 3T
A BT € Ats 3 oo o 5 €
(A) wEerh

(B) wfegeRT &

(C) TRy

(D) #\EY

T SShRHUT TeT0T iR | F fohdeh
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T
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T
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(D) & H,, 318 ¢ 3R 3¢ SR F
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: A fear U=l ufen SfR uew W

48 9 50 ek hl ST JITT :

wF e faRed SR
qft e W T & 60 Twgh e €
eIt a8 Al @ 31 g 1 AR
FOT AR WU THFT  HEIR FH
IS TSGR T 3TN WieTohed & | i
% U U TS W, A 37T ST | AT
FHMR A @A &, df Tl o
AR T T 3R THTT AR 3R
9f-Q-21 AT % Q1 TG gl & |
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ford faer, S | ScEehar o1 R

48.

49.

50.
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TENRTER — S, f&eE, 3o sents 51T
BATE | YH-T-21T SO H1 HaRor 39
T 2 =T (57 i 1 ST AT €,
o ICATOT 5T BT & | 3 835 STat S
F T IE €, A o & e
T U Tk SHOE gy ol 3T <
1 IS TR &, T8t Jfe-9-5m ST
7 2 @R zEfe wegd Fe BeT o
AR, A e § g
faf-mioreRt wa e & & 9 6 i
Y ITER I ISHIR &, A T T8 ST
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AT Bt & | ISR & e 3R e
% o1 I8 TA FI € |

e U SfdRed IR T adf
ST TR T T S Bl €,
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RAFAE |
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SUYRT | hI T |

I & H ATad i SR (R et &
(A) STAREHA TR

(B) TR W

(C) HqMH-51 U |

(D) ST ¥ W

3T T+ THE WA W, N & o
giaeiaa  fafmoeeRl wed gar e
form € 9=t $Y & 7 gl B )
3T BT, AT /8l WX

(A) &M i U |t €9 F HH
BATE |

ST IS haT HIUTETh &Y 9 37T
g

(A) 3R (B) TH |
SYIH B 9 IS TE |

(B)

(©)
(D)

(B)

(©)
(D)
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